Pflichtaufgaben
Aufgabe 2006 P5

Losen Sie das Gleichungssystem:
(1) 5(y-1)-3(x-7)=1
2 20 + x _

[‘2) §Y+ 3

1

Losung 2006 P5:

1. Berechnung_der Variablen y:

(1) 5(y-1)-3(x-7)=1

. 2 20 +x
2 = =1
(2) SV T3
(1) 5y-5 =1
. 2 20+ x
2 = =1
(2) 3Y T3
(1) 5y-5 -1
2 20+ x

2 = =1
() 3y+—3
(1) S5y-5-3x+21=1
: 2 20+ x
2 = =1
(2) 3Y 3
(1) Sy-3x+16=1

2 20+ x
2) = =1
(2) SVt
(1) By - 3x =-15

2 20 +x
2] = =1
(2) SY+t 3
(1) By - 3x=-15
. 2 20+ x
2) Sy-3+ 3=1-3
(2) 3 3
(1) Sy -3x=-15
) 2 20 +x
(2) =y- 2 3=3

(1)Sy -3x =-15
2) 2y +x =-17

(
(1) Sy -3x =-15
(2) 2y -3+x-3=(-17)-3

2P

Klammer auflésen
mit dem
Distributivgesetz

Klammer auflésen
mit dem
Distributivgesetz

Zusammenfassen

|-16

Kiirzen

|-20

-3



Losung 2006 P5:

(1) S5y-3x=-15
(2) 6y +3x=-51

Additionsverfahren

(1) +(2) : 5y -3x+6y +3x = -15+(-51)

Sy + 6y =-15+(-51) Zusammenfassen
11y =-66

11y = -66 |:11

y=-6

2. Berechnung_der Variablen x:
[1} 5[:‘,’—1}—3[:}{—?]=1 y = - 6in (1) einsetzen

Wert der Klammer

[1) 5[_6_1)_3[}(_?) =1 pestimmen

(1) 5-(-7)-3(x-7)=1  wMultiplikation

() 35 30 7)=1  Kommer et
(1) -35 =1

[1) -35-3x+21=1 Zusammenfassen

(1) -3x-14=1 |+14

(1) -3x=15 :(-3)

X=-5

L={-5/-6)]




